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SECTION -1 ..
(1) ANALYTICAL REASONING
SKILLS

If P=25% of 400 and Q=50% of 200,
then which of the following is not true ?
(A) P=Q

(B) P=100% of Q

(C) Q=100% of P

(D) All the above are wrong

In the following figure, area of rectangle
ABCD +area of square EFCD —area of
AABF =

B e F__ = __C

32 cm?
40 cm?
48 cm?

(D) none of these

BPRCEE
S —

Which of the following is the greatest

number ?
(A) 2234
(B) 432
(C) 2323
(D) 324

9T - |

(1) TRt R e

gfe P=400 HT 25% a1 Q=200 F 50%,
79 Fre & A 9 91 FUT I TE B2
(A) P=Q

(B) P=Q & 100%

(C) Q=P =l 100%

(D) SHe it Terd 8

~

freafafaa fasr |, g9 ABCD <1
&TFA + o7 EFCD &1 &% — AABF &l
AR =

A, flﬁ.T-ﬁ. E 491, D

499,

(C) 2323
(D) 324
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LCM of =, 2 and =3 is
071731'1 1415.

(A) 77
B) -

© -

(D) none of these

Gita is elder than Neeta. Shyam is elder
than Gita. Mohan is elder than Ram.
Ram and Shyam are same age. Then who
is eldest ?

(A Gita
(B) Neeta
(C) Mohan

(D) Cannot be decided

For any natural number n which of the
following number may have 2 at unit

place ?

(A) 2"+2
(B) 3"+3
©) 4"+4

(D) 70+7

B -

60

© -

(D) T 4w TE

e, i | 9 ¥ vEm, W @ W e
Hied, U9 § g1’ 1 T 3R W 9H 39 F
1 I R e e ¥?

(A) i
(B)
(© T
(D) Trwifea =21 fepan s wohar B4

fordlt yrepfae @& n & forw foe o @ T
T & THTE TAF T 2 B THa1 82

(A) 2742
(B) 37+3
(C) 4n+4

(D) 747
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A man has 5 monkeys. He spends some
money on first, twice of it to second, thrice
of second’s on third, one fourth of third
on fourth and twice of fourth on fifth, If
" his total expenditure is ¥ 2700, then his

expenditure on fourth monkey is :

A) T 200

If A will get admitted, then B and C will
also be allowed. If C is allowed, then
E and E cannot be allowed. If F is not
allowed, then admission process will be
stopped. Now E was admitted, then
which of the following is correct ?

(A) Cis allowed
(B) A isallowed
(C) Fis not allowed

(D) No conclusion can be drawn

The ratio of sum of all interior angles of a

pentagon and a hexagon is :
(A) 3:4
(B) 4:3
(C) 5:6

(D) none of these

T S & I8 UiE I § | 98 7o 9K
W T T FAT R, TR QTR R,
THY T A AT AR W, AR A TH G
et wx, qen A FH [ A /WA
IHH FA WH T 2700 ¥, T Y I/ TN
IHH T © ¢

(A) 200
(B) ¥ 300
(C) T 400
(D) T § HIE T

I A S ¥A a1 SIS, a B 941 C i off
A B AfE C Y eTAfa §, @ E 9 F
1 FAfa =& fear s W R AR F A
arqafa € ¥, 79 g ufsRan Ik < SR
3 E = waw 3 fean wn, 9@ fre § @ w
HE R?

A) C 1A ¥

A Y 3rgafa ®1

) F &t IgAfa & 7|

D) ¥ frend & e ST wea B |

0 =

(
(
(
(

@Wﬁg@rq&rm&t—r%wﬁm
IO F AT T ST © :

(A) 3:4
(B) 4:3
(C) 5:6
(D) T 9 S Tl
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2 , 2
10. - 5 of 90~ %of 100+ 25% of 100 = 10. 90 F 2 - 100 F %4— 100 W1 25% =
(A) 10 (A) 10
(B) 100 (B) 100
<€ -10 (C) -10
(D) 85 (D) 85
11. In the following figure if AABC is an  11. Trfafea fos § 9fs AABC @k wag By
equilateral triangle, then BC— i 2 ?, 99 BC— AE _
" EC EC
A A
74 %@&/\
$D 60 . &D A 60 .
4 \ 5
VAR C BL— ¢
(A) 1cm (A) 19
(B) 3 cm (B) 3 4.
(€) S5cm (C) 59
(D) 6cm (D) 6 9.H
12. If x+ > =1, then which of the 12. A x+ L= 1, g9 Fre 4 @ 99 W
X X
following is not true ? T R?
2, 1 _ 2, 1 _
(A) 1+?——1 (A) ;\+x—2——1
4, 1 _ 4, 1 _
® *+z=1 ® 4=
8, 1 _ 8, 1 _
(C) x +;_§_-1 (C) X +;—8—__1
2 1 2 1
(D) x*x—zqt—l (D) x x—2¢ 1
SPACE FOR ROUGH WORK / 1% &Td & ford sme
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13.

14.

15.

P is taller than R'and S. Q is shorter than
Pand S. R is shorter than Q and S. Sis
taller than Q and R. Then who is tallest ?

(A) R
(B) P
€ S

) Q

If twice of a side of a square is substracted
from the area of that square and then
increased by 1 it becomes zero, then 2018
times of the side of that square is :

(A) 2019

(B) 1

(C) 2018

(D) mnone of these

If AABC is an isocelles, CE is bisector of
ZACD, then in the following figure
ZECD =

13.

14.

15.

RANSYP AT PAMSHQ BRI R
QUMSARBEE! QAMR FS T T
qo TIY T A & ?

(A) R
B P
© s
D) Q

qfe W &l 1 Tk S BT A W &
SR § T S T a1 1 | Sl e S
¢ 9 98 Y & S 8, T 3Y & Bt Th Yl
1 2018 TOT & :

(A) 2019
(B) 1

(C) 2018
(D) T8 | =% &

gfe AABC wAfgamg €, £LACD &1 CE
guafgyrse §, o« = fo3 ¥ ZECD=

A E A E
/,\ / [
/40°\6cm  / g/ 40°\ 68
é?,«’ \ / &/
0/ \ o / \
N / \
/ \ £ / \ A
L \\ ‘\I r,—” \\/ \I
B & D B . D
(A) 55° (A) 55°
(B) 40° (B) 40°
© 110° (C) 110°
(D) 70° (D) 70°
SPACE FOR ROUGH WORK / % @& & for& sg
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16.

17.

18.

In the following figure values of OB and
ZOBC are respectively :

(A) 5 cm, 30°
(B) 7 cm, 60°
(C) 5 cm, 60°
(D) none of these

If one hand = 1% feet, 1 yard =3 feet, and

1 fingure =1 inch, then 4 hand 24 yard
8 fingure =

(A) 36 feet 4 inch

(B) 78 feet 4 inch

(C) 78 feet

(D) 36 feet

A, B, C are admitted in Course-I. C,D, A

are admitted in Course-II. D, B, E are

admitted in Course-III. Then which of

the following is correct ?

(A) All are admitted in atleast two
courses

(B) Only A and B are admitted in two
courses. . 7

(C) Only E is admitted in one course
only. '

(D) Atleast one is admitted in all
courses.

16.

17.

18.

e fg3 ¥ OB 9o ZOBC & 9 § ww:

(A) 5 Q. 30°
(B) 7 ®.Ht, 60°
(C) 591, 60°
(D) T § ®E T

Ife TH 7Y = 1% T, 1 TS =3 HIT, qT
1 3felt=1 $9, 99 4 TY 24 79 8 Il =

(A) 36 FI 4 39
(B) 78 Wik 4 ¥
(C) 78 WiE
(D) 36 HIE

A, B, C & Tieasa-1 ¥ vaw e mam

C, D, A &l UegHy-1I # yaw fear

D, B, E %I Ugwshu-1I1 § yaw fean man | &«

g Y amad ¥?

(A) - Tt = FH-Y-FT S TSTHA F JAW
ERIRIEIE ‘

(B) HIA A U B Tl T UISHHHI § AW
femmn

(C) *aa E I fok T wroasa & wam
fenmm

(D) FHU-H-HT TH Sl 9ot TSTehal | yaw
T man
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19. Ritaiselder than Shyam but yoi;ngér than'

Ranu. Mohan is elder than Ranu. Ranju
and Rita are same age. Then which of

the following is true 7
C(AY: Shyam ‘is elder than Ranu
(B) Ranu is elder than Ranju
S Shyafn and Mohan are of same age

(D) Mohan is youngest

20. If twice of a number is increased by 3, then
it becomes divisible by 3. The least such

positive number is :
A o0

B) 1

© 2

(D) 3

2 o

21. " From the following figure what will be

the valueof x ? -

B 5+ 7
9>—24 15>’—50_21>—x
1 13 15

(A) 43

(B) <48

(©). -84

(D) none of these

19.-

20.

21.

e, v B € § g T ° SR R A,
AT ST TR | F &1 7@
Frer 3 9 B T 32

(A) - M, TR

(B) T I ATERI

(C) ¥ e Higd T 3 & T

(D) FEATER BRI
W&'Wma‘ﬁﬁfﬁaﬁ?ﬂ?wﬁmm
R, a9 9% 3 q 9T B S ¥ 1 9% T8I
TR §&IT § ':
@) o

B) 1

(C) 2

(D) 3
ﬁmﬁtf@aﬁaﬁxwmvwm?
3 N 7
924 15—>50 21 x
11 13 15

(A) 43

(B) 48

(€). 84.

(D) T | HI Tl
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GAP BED, RIM, NOT, ?

(A) MUG : fyer

(B) PIR
(C) DLS
(D) ZWS

23. Pick out correct option for the blank 23.

spaces of the following series :
_bb_ab_aa_bba
A) Dbaba

aabb

(

(B) aaaa
(

(D

C) bbbb
)

24. If '"HEALTH' is coded as ‘KIGTFK’, then . 24.

a MAHIUM” will be _qoded as :

A) PDNRGP RIS TR

(

(B) PEN QGP

© PEMQNP

(D) None of these

25. Pick the odd one out : "

(A) Book
(B) Teacher
(C) Pencil
(D) Copy

(
(B) aaaa
(

,(D

22. Find letters at ? mark. y 22,2 faa # T R S ﬁﬁnzu

; (B) “SPTR T e e g 1y

i

(© DIS
(D) ZWS

_b_b_ab__aa_bba
A) baba -

Q) bhbb
) aabb - -

afs ‘HEALTH' #1 iza:; fepan ST
'KIGTFK’ ¥, T 'MAHIUM’. ﬁ FTTE

:ﬁ:ﬁ"’iﬂiﬂa'fﬂ ql

(A) PDNRGP -
(B) .PENQGP
(C) PEMQNP
(D) T &

Set - A 10
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(2) VERBAL SKILL'S /aﬁa e 26. It seems that low paid people should :

Read the following passage and answer
question number 26 to 30 based on it (choose
the most appropriate answer) |

Itis strange that, according to his position
in life, an extravagant man is admired or
despised. A successful businessman does
nothing to increase his popularity by being
careful with his money. He is expected to
display his success, to have smart car, an
expensive life, and to be lavish with his
hospitality. If he isnot so, he is considered inean
and his reputation in business may even suffer
in consequénce. The paradox remains that if
he had not been careful with his money in the
first place, he would never have achieved his
present wealth. ‘Among the two income
groups, a different set of values exists. The
young clerk who makes his wife a present of a
new dress when he hadn’t paid his house rent,
is condemned as extravagant. Carefulness with
money to the point of meanness is applauded
as a virtue. Nothing in his life is considered
more worthy than paying his bills. The ideal
wife for such a man separates her housekeeping
money into joyless little piles - so much for rent,
for food, for the children’s shoes ; she is able to
face the milkman with equanimity and never
knows the guilt of buying something she can’t
really afford. As for myself, I fall into neither
of these categories. . If I have money to spare, I
can be extravagant, but when, as is usually the
case, I am hard up, then I am the meanest man

imaginable.

27.

28.

(A)

not pay their bills promptly.
not keep their creditors waiting.

borrow money to meet their
essential needs.

feel guilty if they overspend.

We understand from the passage that :

(A)

(B)

(©)

(D)

all mean people are wealthy.

wealthy people are invariably
successful.

carefulness generally leads to

‘failure.

thrift may lead to success.

In the opinion of the writer, a successful

" businessman :

(A) is more popular if he appears to be
doing nothing.

(B) should not bother about his
popularity.

(C) must be extravagant before
achieving success.

(D) isexpected to have expensive tastes.

SPACE FOR ROUGH WORK / 7% &/ & e sig
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29.

30.

31.

The statement she is able “to face the

+ ‘milkman with equanimity” implies  that :

(A) She is not upset as she has been
paying the milkman his dues
regularly.

(B) She loses her nerve at the sight of
the milkman who always demands
his dues.

(C) She manages to keep cool as she has

to pay the milkman who always
demands his dues.

(D) She remains composed and
confident as she knows that she can
handle the milkman tactfully.

The phrase ‘lavish with his hospitality’

signifies : :

(A) miserliness in dealing with his
friend. ‘

(B) considerateness in spending on
guests and strangers.

(C) extravagance in entertaining guests.

(D) indifference in treating his friends
and relatives.

(a) He will come if you call him.
(b) He would come if you called him.

() He would have come if you had
called him. ’ ‘

Which of the above sentence/sentences
is/are grammatically correct ?

(®) Only (b)

(C) Only (o)

.(D). .All the above sentences are correct

32.

33.

34.

‘I saw him leaving the house’.

Change the above sentence into passive
voice. Choose the correct alternatives
given below :

(A) Hehad been seen leaving the house.

(B) He was seen to be leaving the
house.

(C) Leaving the house he was seen by
me.

(D) He was seen leaving the house by
me.

Rahul said to me, “we are mortal”.

Choose the correct indirect form of the
above sentence.

(A) Rahulsaid to me that we are mortal.
(B) Rahulsays tq me that we are mortal.

(C) Rahul said to me that we all are
mortal.

(D) Rahul said to me that he and I are
mortal.

_ to learn basic German
for Germany

‘She e i __u
as she wi}l be
next month’.

Complete the above sentence from the
words given below : (Choose the most
appropriate answer)
(A) likes, reaching

(B) wants, leaving

(C) intends, visiting

- (D) knows, going

SPACE FOR ROUGH WORK / I% &rd & ford g
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35.

37.

38.

(a) Stop that noise, will you ?
{b) Let's go for a walk, shall we ?
() You need to come earlier, don’t

you ?
Which of the above sentence/sentences
is/are grammatically correct ?

(A) Only (a)
(B) Only (b)
(©) Only ()
(D) All sentences are correct

Choose the correctly spelt word.
(according to British English)

(A) Assassenation
(B) Assassination
(C) Assasination
(D) Asassination

Choose most appropriate one word
substitute for ‘an official examination of
a dead body by a doctor in order to
discover the cause of death’.

(A) Amputate
(B) Autopsy
(C) Morgue
(D) Crusade

Robert will say to me, “I am your
classmate”. '

Choose the correct indirect form of the
above sentence.

(A) Robert will tell me that he is my
classmate.

(B) Robert will tell me that he was my
classmate.

(C) Robert will tell me that he will be
my classmate.

(D) Robert said me that he is my

classmate.

39.

40.

““'of the word ‘Excite”.

41.

42.

43.

(D)

Choose the correctly spel’t,.word?

(according to British English)

(A) Accesary
(B) Acessarry

(C) Acessary
Ac'cessbry

Choose the most approprlate antonyms

(A) Incite
(B) Spur
(©) Galvanize
(D) Calm

Choose the most appropriate Synonym of
the word ‘Delegate’.

(A) Representative
(B) Officer

(C) Member

(D) Servant

“You told me that the talk would be
interesting’.

How many adjectives are there in the
above sentence ?

(A) 1
(B) 2
© 3
(D) 4

Choose the sentence which is most
appropriate :

(A) Sorry to keep you How long are

’ you waiting ?

(B) My apologies for.delaying. How
long have you been waiting ?_

(C) Sorry to keep you. How long have
you been waiting ?

(D). Sorry for the delay. Since how long

are you waiting ?

SPACE FOR ROUGH WORK / % &1 & o g
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44.

45.

46.

47.

0il
Choose the correct expression tofill in the

blank in the above sentence. (Choose the
most appropriate answer)

(A) is floating
(B) floats
(C) floating

" (D) float

Choose the most appropriate antonym of
the word ‘listen’.

(A) hark 49.
(B) Theed

(C) attend

(D) ignore

“You've been talking about asking her out
for weeks, what are you waiting

Complete the above sentence by using the
most appropriate preposition given
below :

(A) to 50.
(B) in

(C) at

(D) for

Choose the most appropriate synonym of
the word “Valour’.

(A) Stable
(B) Coward
(C) Heroism
(D) Fear

____on water. , 48.

I

e she seems happy, I know
that she cries when she’s alone’.

Choosé the correct (most appropriate)

alternative to complete the above

sentence.
(A) Yes
_ (B) But _
(C) Although |
(D) None of the above

Choose (most appropriate) one word
substitute for “to officially cancel or delay
a punishment for a prisoner who is
condemned to death’.

(A) reprieve
(B) exemption
(C) discharge

(D) amnesty

‘Look at the poll results - do they inspire
hope 7

Choose the correct transformation of the
above sentence into passive voice.

(A) Let the poll results be looked - is
hope inspired by them ?

(B) Let the poll results be looked at - is
hope inspired by them ?

(C) Letthe .pbll results be looked at - has
hope been inspired by them ?

Let the poll results be looked at - is
hope being inspired by them ?

(D)

SPACE FOR ROUGH WORK / T% &4 & ford wre
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51.

52.

53.

(€)  DNS signing

(
(&2 Integnty
(

(D) Possessmn/ control .

SECTION - 1I .

‘Which of the .fo‘ll‘c')wmg statement.is  51.

false ?

(A) Left as well as right derivations can
be in unambiguous grammer.

(B) An LL(1) parser is a top down
parser.

(C) LALR is more powerful than SLR.

(D) _“Am'bi‘guous grarhmar?can’t be

LR(K).

Tricking a DNS server into installing a 52.

false IP address is called :
(A) DNS naming
(B) . DNS spoofing

(D) DNS flooding

Wthh of the followmg terms best 53.
descrlbes the assurance that data has not

been changed unmtenllonally due to an

““accident or maIiC'e ?
,,(A) Utlhty
B) - Avaﬂablhty

L T

VT - 11

fretforfea # & # o Fu s §2,

(A) TR SR U ST ST ST ST
RESET RS
(B) LL(1) T W & 9 aren qrelk §1

(C) LALR, SLR &% ga&a1 ® erfys

wferemedt & |
(D) LR(K) T8I S0 &l & kel |

DNS wet ¥ f&eh % 5/ 7Tord 1P U8H 379ere

(A) DNS =fH7

e ‘D.NS.,

(C) DNS =R
(D) DNS wfen

e § & & @ of 999 o=t e @
ghfyea e € for e sifrifea o 9

| QERAI A1 g T o gan ¥ 7

(A) FEIferEd
(B) sracifaferct
(C) =

o (D) TR/

SPACE FOR ROUGH WORK / Th &1d & o) S

9021/ID-IF/RCE-E 15

Set - A



54,

55.

56.

_: The language {0" 1° 271 < n < 108} is : -

(A) regular
(B) context free but not regular :

(C) context free but its complement is

not context free

(D) not context free '

Suppose you are a network administrator
and you have been’ assigned the IP
address of 201.222.5.0. You need to have
20 subnets with 5 hosts per Subnét. What

subnet mask will you use ?
(A) 255.255.255.240

(B) 255.255.255.248

(C) 255.255.255:128

(D) 255.255.255.192

All TP packets sent to the mobile node are

delivered to the ___not directly

54. AN (0" 10 271 < n'< 106} §

oy

55.

56.

(B) I Tl T VIR el

(C) FIwe W TR TH Fregeid
IR Tl TRl Bl

(D) Wi w7

201.222.5.0. &1 . 9. T@r Wi T g
3T 5 B U Wee & WY 20 HeHE bl
SETIHAT L | 3T TR el HREh 1 994
N ?

(A) 255.255.255.240

(B) 255.255.255.248

(C)  255.255.255.128

(D) 255.255.255.192

Harge dre B 4% T wdlt P Y
o 9 W § A e e

to the IP address of the mobile node. ;q‘raﬁa A F [P L9 T
(A) - Foreign Agent o (A) HIE T
(B) COA (B) COA
(C) CIA (C) CIA
(D) CN (D) CN
SPACE FOR ROUGH WORK /T e & ford se
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64.  What port number does HTTPs use ? 64. HTTPs 31 G T&HTeT Sl &2
(A) 80 (A) 80
(B) 21 (B) 21
(C) 443 (C) 443
(D) 441 (D) 441

65. The language accepted by push down 65. IR SI3T ARM ERMETR K] TS ST § 2
automata.
(A) Type-0 (A) IFR-0
(B) Type-1 (B) YeR-1
(C) Type-2 (C) "=R-2
(D) Type-3 (D) WHR-3

66‘. Suppose host P uses a stop-and wait ARQ 66. W WS fr A= p, B Q =1 %y ¥ &
when sending frames to host Q. Distance foa stop-and wait ARQ T 393V &L &1
between host P and Q is 4000 km. How B P 3R Q % ot = gt 4000 fEit ¥
long is the transmission time for a frame 1000 ST5TH & % F g, ziae ey
of 1000 bytes if the transmission rate is R T =1 2 e TR 32 1,00,000
1,00,000 kbps ? kbps T 2
(A) 80 usec (A) 80 usec
(B) 40 psec (B) 40 psec
(C) 50 psec (C) 50 psec
(D) 90 psec (D) 90 usec

.

SPACE FOR ROUGH WORK / % &1 & fory g
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67. A system program that brings together 67. W& fawd wum™ w1 foF & e wEETS
separately yco'mpiled modules of a TSIe Sl 1Y Tl T S foF T g W
program into a formed language that is ¥ 9o & ¥, 9% fFree % ford Suge
suitable for execution : M
(A) Assembler (A) ST
(B) Linking Loader @) fafs et
(C) Cross Compiler (C) T HEEEN
(D) None of the above (D) ST § HIE TRl
68. If there are n signal sources of same data 68. Ifc qHM e T n faa i T, e
rate, then how many slots will be in TDM fefer # T w2 B
link ?
RN (A) 2o
(B) omn—1 (B) omn—1
(€) n (€ n
(D) n/2 (D) n/2
69. All device identifications registered for a 69. Tre dead ¥ g w7 ¥ RS HRIA
network are stored in a database called g Seem H R @I E S HE R )
(A) OMC (A) OMC
(B) EIR (B) EIR
(C) VLR (C) VLR
(D) HLR (D) HLR
SPACE FOR ROUGH WORK / Tt @1d % ferd sTe
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70.

71.

72,

Highest I/O band-width can be achieved
in which of the following DMA transfer
handling

modes and

mechanisms ?

interrupt

(A) Transparent DMA and Polling
interrupts

(B) Cycle-stealing mode

(C) Block transfer and Vectored
interrupts

(D) None of the above

An attack in which the intruder has
already broken into hundred of
computers elsewhere in the world and
commands all of them to attack the same
target to shutdown the target rather than
steal data is called :

(A) Denial of service
(B)  Distributed Denial of service
(C) Birthday attack

(D) Key stream reuse attack

In OSI model, which layer performed
error detection ?

(A) Network Layer
(B) Datalink

(C) Transport

(D) Both (B) and (@)}

70.

71.

72,

ST 1/0 Se-el =) frfafag DMA
mmmmmmﬁ@m
o Wt e < ey 2

(A) mmﬁDMAaﬂx‘?n%mm

(B) wnfea-fefsin de
() wmaﬁxmm

(D) S # § #¥ 7

WWW@MWI#%
T S Tave § e 3R & 7o Wit B w
aﬁzwmmmﬁmsﬁmsﬁ
R H F T Freifi o @1 @), w9 3
g

(A) feirre aifw wfig

(B) Texdtepe femm o wifg
€ w4 st

(D) = &w foqw s

OSI 7iger A, Hiay
?? ‘

(A) Feud A
(B) <Safeiw

(©) grEuid

(D) (B) 3R (C) it

A 1 a1 e

SPACE FOR ROUGH WORK / T & & forr s
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80.

81.

82."

G_iVeh a 1 mbps Ethernet link, packet size 80.

of 10 MB, propagation speed =2x108
m/s and distance between the two end
points to be 10 km. Assume there are no
routers on. the link. What is the

Propagation delay ?

-+ (A). . 50 micro sec

(B) 49 micro sec

(C) 51 micro sec

(D) 100 micro sec

Pick the incorrect statement : 81.

(A) Shellis command interpreter.

(B) Shell is interface between usex and

Kernel.
(C) System can't work without shell.

(D) Shell is a program.

ﬁy ﬁsing
from temporal code to special code.

(A) Timers
(B) Synchronous counters
(C) Shift registers

(D) None of the above

~ datacanbe changed 82.

1 mbps $oE &, 10 MB 1 e TR,
e wfe =2 x 108 Wy R q
siq Tigeit ¥ o gl 10 fdt 37 & for
fora AT | W o TR TR R I T R
e feat FNE?

(A) 50 R GHE
(B) 49 T UHT

(C) 51 Wigh! HF-S
(D) 100 HEehl HHS

TTeTd YA W FIT B
(A) el TF TS T T

(B) 3ot STAITERd TE HAA % S
SRR ¥ |

(C) ﬁmﬁa%ﬁmaﬁmaﬁaﬁzm|
(D) 9 T WM ¥

e T ITAT FH S DS o
9ty 1 T can S TRl ¢ |

(A) TR

(B) fa=rra HRER
(©) ferde Rt
(D) o8 9§ & off &

"SPACE FOR ROUGH WORK / T @r & ford e
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83.

- ee(A)

84.

. =(B),

85.

()

G

~.Hardware address of a local device can

1 be found usmg

RARP
(B) ARP
(© IP
(D) ICMP

The effective address of the operand is
generated by adding a constant value to
the content of a register is called
— addressing mode.

(A)  Absolute mode
Indirect mode
Index mode

©)

None of the above

The baud rate of signal is 600 baud/

- second. If each signal unit carries 6 bits,

the bit rate of the signal is :
(A) 600
(B) 100
(C) 3600

6/600

83.

84.

85.

Th W fearr w1 SRR w2y frwy
SR & IR S e 2

(A) RARP
ARP
© 1P

(D) ‘IC‘MP

- - @quﬁgﬁ LT T gyt
@awrﬁmﬁmﬁrﬁﬁwwﬁw
ERERIG S

(A) i
(B) 3Ty Hre
(C) Y==iw dre

(D) S ¥ q % 7

fame 1 9 2 600 aﬁg/ﬁm%n wﬁ:
ek Fere g ¥ 6 fraw @ A, farret =1
foe Y2 wamu .

(A) 600
(B) 100
(©) 3600

(D) 6/600

9021/ ID-IF/RCE-E
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86.

87.

88.

The type of threats on the security of a

_computer .system - on network 1is

(@) Interruption
(b) Interception
(c) Modification
(d). Creation :
(¢) Fabrication

(A) (@), (b), (c) and (d) only

(B) (b), (), (d) and (e) only

(© (a), (b), () and (¢) only

(D) Al (a), (b), (), (d) and (€)

The Strategy of making process that are
logically runnable to be temporarily
suspended is called :

(A) Non pre-emptive scheduling

(B) Pre-emptive scheduling

(C) Shortest job first

" (D) First come first serve

The interference between the neighboring
base station is avoided by :

(A) Assigning different group of
" channeles

(B) Using transmitters with different
power level

(C) Using different antennas
(D) All of the above

86.

87.

88.

oo W F Fg AEA F g W
?ﬂ'&'%@(“@ﬁ%

(a) ¥RM

(b) TETERA

(c) Tifsfreer

@ fwaem

O IEERE

(A) FA (), (b), (©) 3 (d)
®) ¥ (b), (0), (d) I (o)
(© Fa (), (b), (©) 3 (e)
@) =f (@), (), (©), (d) I (e)

syeorl w9 @ Freifad g & o arfehs 9
2 TR I S R R ) el ST €

(A) At froede defe
@) o fegfan
(©) W S W

(D) &S el e T

Tdrdt d B F A F GO H
T ST @
(A) e W ¥ A TEEA HH

(B) ST WER Ve % ZRHHIT TR
- FH

() SO TR TR o

(D) S Gt

SPACE FOR ROUGH WORK / T @t o o <
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89, MGiv'en a block of addresses 208.3.30.0/ 24,

90.

91.

which needs to divide the addresses into
three subnets and each subnet has 10

hosts. Find the first and last address of

the host in third subnet.

(A) 208.3.30.17 - 208.3.30.30
(B) 208.3.30.16 - 208.3.30.29
(C) 208.3.30.32 - 208.3.30.45

(D) 208.3.30.33 - 208.3.30.46

A list of protocols used by a system, one

‘protocol per layer, is called :

(A) Protocol architecture
(B)

(©)

Protocols stack
Protocol suit

(D)  None of the above

If there are 32 segments in each of size

IK byte, then logical address should
have :

(A) 13 bits
14 bits
15 bits

16 bits

89.

90.

91.

USH & T =olf B T 3¢ 208.3.30.0/24, 7
ﬁ@aaﬁﬁhwﬁzﬁﬁm Ecicn)
Sraeawal gt € 9k yAw wadz §
10 B BR ¥ 1 e e F By g
3R o TEH §E |

(A) 208.3.30.17 - 208.3.30.30
(B) 208.3.30.16 - 208.3.30.29
(C) 208.3.30.32 - 208.3.30.45

(D) 208.3.30.33 - 208.3.30.46

& T TF WA ¥ e, fae g
mﬁﬁw%%@mwﬁnm%:

(A) W i

(B) URIHT WF N

(©) e ge
(D) ST & %1 e

S 1K byte % 32 wve & dl @i wey

(A) 13 bits
(B) 14 bits
(C) 15 bits

(D) 16 bits

SPACE FOR ROUGH WORK / T &7 & foray Y
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92.

93.

94.

Automatic repeat request

management mechanism is provided by :
(A) network interface control sublayer
(B) media access control sublayer

(C) logical link control sublayer

(D) none of the above

Which of the following is top-down 93.

parser ?

(A) Recursive descent farser
(B) Operator precedence parser
(C) An LR (K) parser

(D) An LALR (K) parser

Consider the grammar shown below : 94,

S—>IEtSS|a
S >eS|e
E—>b

In the predictive parse table M of this
grammar, the entries MIS’, e] and M[S,
$] respectively are :

(A) {S—eStand (S — €}
(B) {S—eStand{}
(C) (S—>etand (S — ¢}

(D) {S— eSS — ¢} and {S" — €}

error 92.

ayeifes fidte fede (@ = At
RpERh G SIS T ST § 2

(A) ek TeTRY HUIT HRRR
(B) mmmw@m
(C) i fefe Hugret Tara
(D) T 9§ HE

Erafafad § § O W Th 2I-8RA TE
¥?

() T s T
(B) AT Jelal TR
(C) T LR (K) TR
(D) TFH LALR (K) IRR

S—»>IEtSS]a
S>eS|e
E—-b

wwwaﬁqﬁwaﬁﬁwmmﬁ,
wfafieat M[S, ] SR MIS’, $] o § :

(A) [5—>eS} W S — ¢
(B) {5—>eS) T {}
(C) (S—>eaTW(S =€

(D) {S—eS S > TS ¢

SPACE FOR ROUGH WORK / T @1d & ferd sme
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95.

96.

97.

Consider a logical addregs space of 8
Pages of 1024 words mapped with
memory of 32 frames. How many bits
are there in the physical address ?

(A) 9 bits
(B) 11 bits
(©) 13 bits
(D) 16 bits

A network with bandwidth of 10 Mbps
¢an pass only an average of 15,000 frames
Per minute with each frame carrying an
average of 8,000 bits. - What is the
througput of thig network ?

(A) 2 Mbps
(B) 10 Mbps

€ 120 Mbps

(D) 60 Mbps

30ns with cache and memory accegs time
and 20ns and 80ng Tespectively. What is
its ratio ?

(A) 90.3
(B) 703
(C) 93.3
(D) 83.3

95.

96.

97.

S

9021/1ID-IF/ RCE-E
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98.

99.

100.

Consider a subnet with 720 routines. If
we choose a three-level hierarchy with 8
number of clusters each containing 9
regions of 10 routers, then the total
aumber of entries in the routing table will
be

(A) 72
(B) 53
C) 28

(D) 25

What are positional parameters ?

(A) Special variable for assigning
arguments from the command line.

(B) Pattern matching parameters.

(@) Special variables for reading users.

(D) Special variable and patfern.

Zero has two representations in:
(A) 9s Complement
(B) 2's Complement
() Vs Complement

(D) Both (B) and (C)

99.

100.

as’@ﬁ,mwﬁ ford wekw § 10 ¥
ED 9mmﬁﬁmmﬁ@aﬁ§a
gemam ..

(A) 72
(B) 53
(C) 28

(D) 25

fropferma AT R ?

(A) w@a@aﬁﬁéﬁ%mmﬂ
A |

(B) L e RCIRIC RS

(©) Ww%ﬁ%mmﬂ
Aftuset |

(D) T Ao o

=2 ¥F 2 wfaffac ¥:
(A) g's wreHe |
(B) 2s Hreiie |
© Vs wwRiA H
@) 2 (B) F(C)

SPACE FOR ROUGH WORK:

Set - A
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101. To spawn a child of our own choice for

running the SCript, we can use

Consider different activitieg related to
emai] :

102.
ml : Serid an email from a mail client to
a mail server

m2 ; Download an email from mailbox
server to a maij] client

m3 : Checking email in a wep browser

Which is the application Jeve] protocol
used in each activity ?

(A) mi1:HTTP m2 : SMTP m3 : pOp
(B)  m1:SMTP 1y . FTP m3 : HTTpP
€ m1: SMTP m2 : pop m3 : HTTP

(D) m1: pop m2 : SMTP m3 . IMAP

9021/ID-IF/RCE-E

SPACE FOR ROUGH WORK /

101.

102.

mm%fﬁam

mwﬁ%mmwm%@
I FH Wi (spawn) m——‘r%fm, [
Ly mmwﬁnmwﬁ%:
(A) Ps
(B) Pr

(©) sh

(D) 33

(A4) m1:HTTP my . spprp m3 : POp.
(B)  m1:SMTP my. prp m3 : HTTp
(© m1:SMTP my . pop m3 : HTTp

(D) m1:POP my : spyrp m3 : IMAP

Set - A



103.

104.

105.

What is the maximum Jength of the cable
(in km) for transmitting data at a rate of
400 Mbps in an Ethernet LAN with frame
of size 20,000 bits ? Let propagation
speed of the signal in the cable is
4,00,000 km/s.

(A) 5km
(B)
(C) 35 km

8 km

(D) 10 km

Which transmission technique guarantees
that data packets will be
receiver in the same order in which they

received by the

were sent by the sender ?
(B)
(B)
(©)
(D)

Broadcasting
Packet Switching
Circuit Switching
Unicasting

Why are the wires twisted in the

twisted-pair copper wire 7
(A) It increases propagation speed.

@®) It

interference.

- reduces electromagnetic

(C) It decreases propagation delay.

(D) None of them.

103.

104.

105.

Sortre O ¥ 400 Mbpseﬁaﬁ%awmﬁa
0 % fon, e H sy e (et

W-Wﬁ%mﬁ,mﬁaﬁgm
fop ST © ?

(A) w‘ﬁﬁmnﬁﬁm%l

(B) qgﬁgagmﬁamm@mm
%
(€) agmﬁ%ﬁaﬁw,m%l

(D) <7 | S T

Set -
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106.
DR A
FET e amount of time,

(B)  which avoids deadlocks,

(©  where

accessed.

(D)  which must be encloseq by a pair
of semaphore operations P and .

107, The - mmimal
"F(‘ABCD) =5(1, 3,4, 5,

(A) BC’
(B) BD
(© BC+BD

(D) None

(A) SLR parsing table
e (B) Canofﬁcél LR parsihg t.;lble
(©). LALR parsing table

(D)  None of these '

" A critical Segment is 3 Program segmernt -

"which should run In a certain

shared resources are

expression
911,12, 13) js .

(B) vhwﬁmaﬁaam%n

(@) ww@mwmvﬁ%n

107. fofter vy

D35 454,11,15 ) 2
4) BC |

(B) BD

() BC'+BD

(D) =¥

108, YACC SR

(A)  SLR wifify d5e
(B) ¥ g i éaa
© ,.LALR,‘TTﬁf’Té_Era

SPACE FOR ROuUGcH WORK'/
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109L1ght Weight Directory Access Protocol
(LDAP) :

(A) islighter because in its initial version

it did not include security features.

(B) 1is primarily used to inter connect

two or more TLANSs.

(C) it transmits small packets of fixed

size.

"Dy is useful for constructing faster local

area networks.

110. CRC éar[ detect all burst of upto p errors,
if generator polynomial G(x) is of degree.

(a) pti
® r
© p-1

®) 1

111. Hidden terminals may cause :
(A) Phone damage
(B) Double attack
(C) Tandem

(D) Collision

o

109. e 0 i T T (LDAP)

(A) et A & it T e R
ﬁfqaz{ﬁé\qﬂawrrﬁﬁqﬁml

@B g s S LANs &
m;m%mmﬁmm
B

©) WWW%@T@W@W

(D) a@'wmqﬁmwaﬁﬁm

110. CRCp~m'aamﬁm€aﬁﬁ;éazmm
%QWWG@)#”@W
et ? -
(A) ptl
(B P
© p-1

(D) 1

111. f%éﬂzﬁ——ra@réim%:

SPACE FOR ROUGH WORK / T T 3 se
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112. In Round Robin CPU Scheduling, as the

113.

114,

time quantum is increased, the average
turn around time :

(A) Increases

(B) Decreases
(©) Remains constant

(D) Varies irregularly

A group of some stations sharing 56 kbps
pure ALOHA. Each of the station
outputs a 1000 bits frameg on an average
in every 100 seconds, even though
Previous one has not been sent,

How mémy number of stations are

there ?°

(A) 63
(B) 83
€ 103

(D) 123

Polling is a type of :
(A) channelization access
(B)  random access

(Q) controlled accesg

(D) none of the above

——

112._

113,

114.

mﬂﬁqcpuﬁaqﬁmﬁ,@m—ﬁﬁm_
ﬁ‘wﬁq@%ﬁr%aﬁaﬂmﬁm
Cice

(A) =&

(B) wedft g

(© oo et T
(D) sfrafie w9 @ sgort 2

@"@WWQ?W%kbpsVﬁTALOHA
A T & wﬁ%ﬁﬁ!ﬁﬁﬁ%wﬁ
F S H IR Sy R W
1ooﬁmﬁ1000%@ﬁmm3¥m§z
AR Wﬁmmﬁml

(A) 63
(B) 83
(©) 103
(D) 123

Polling T Wb &7 ¢ .
(A) TS Ty
(B) Yeu uwiy
(©) Fdee v
(D) ¥ 9§ 2 oft 75

SPACE FOR ROUGH WORK / T & % o s
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115.

116.

117.

118.

Full-rate TCH and Half-rate TCH in GSM

have data rates and

~ respectively.
12.8 kbit/s, 6.4 kbit/s
8.6 kbit/s, 4.3 kbit/s’
22.8 kbit/s, 11.4 kbit/s
14.8 kbit/s, 74 kbit/s

(A)
(B)
©)
(D)

Network address prefixed by 1110isa:

Class A address
Class B address
Multicast address

(8)
(B)
©)
(D)

Reserve address

Which memory unit has lowest access
time ? "
(A) cache

(B)
©)

(D) main memory

magnetic disk

registers

Which one of the following is an internet

standard protocol for managing devices
on IP networks ?

(A) host configuration

dynamic
protocol

simple network management

(B)
protocol
internet message access protOcol

©
(D)

media gateway protocol

115.

116.

117.

118.

e Ye-TCH T @ - TCH, GSM # 2
T wH R . A —— T

12.8 kbit/s, 6.4 kbit/s
8.6 kbit/s, 4.3 kbit/s
298 kbit/s, 11.4 kbit/s
14.8 kbit/s, 7.4 kbit/s

(8)
(B)
©
(D)

moﬁﬁﬁzwgﬁzﬁ@mmﬁ
gt ®?

(A) T A T

(B) B TS

©) TR 59

(D) foe &H

»»»»»

Set -
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120.

121,

122,

Octal equivalent of decima] 320.697 js -
(A)  640.787 '

(B) 815234

© 70.771

(D) 500.545

fn the TCP/ IP model, reliaple end-to-end
delivery of data is the responsibﬂity of
which layer ?

(A) Application Layer“

(B) Network Layer

(C) Datalink Layer

(D) T_ranqurt Layer

does not include the
»foﬂ‘owing field in the base header 5

(A)  Next Header fie]q

©) (A) and (B) both
(D)  None of above

/ID-IF/RCE.g

120.
(B) 815.234
(D) 500.545

121,

(A) et gy
(B) e gy
©)  afeie s
(D) 99 s

122,

1PV4%féuﬁa,1PV6ﬁéw%aﬁﬁw
%Wﬁm?ﬁ%:

(A) T e e

(B) Wﬁw%m%
© () stk B) 2
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123.

)

124.

125.

“®

“The-command nknod myfifo b 4 167

will create a plock device if user is

root.

‘will create a block device for all

(B)
users.
wﬂl create a FIFO if user is not root.

©

none of the above.

(D)

Which of the Lexical analyser can handle
Unicode ?

(A) Java CcC
(B)
(C) Quex

JFLex

(D) Allof the mentioned -

Suppose a digitized voice channel is made
by digitizing 8 kHz bandwidth analog
voice signal. Itis required to sample the
signal at twice the highest frequency (two
What is the bit rate

required, if itis assumed that each sample

samples per hertz).

requires 8 bits.
(A) 32kbps
64 kbps
(C) 128 kbps

(D) 256 kbps

123.

124.

125.

waie “mknod myfifo b 4 16" 2

(A) block device egfsia am AR TN
w2 R

(B) mw%mwmwﬁa

Eaulll

FIFowwé’frmszazgmmqﬁ
7

(D) ST T g T |

©

memmﬁwm
TR T2

(A) Java CcC
(B)
(@) Quex

(D) ST Wl et

JFLex

m?ﬁm%@%@aﬁméﬁw
i 8 kKHz ooy e af e
%Wamw%lmmm
@a@ﬁwﬂa&aﬂﬁaﬁ(a@mﬂ/
éﬁ)aﬁﬁmmﬁﬁw%wﬁ
mﬁm%msﬁs@ﬁmm@
amﬁmamml

(A) 32 kbps

(B)
() 128 kbps

64 kbps

(D) 256 Kbps.

SPACE FOR ROUGH WORK / T T R fodl e

Set - A

9021/ 1D-1F/RCE



131.- Network layer is responsible for :-

132,

133.

(a) Packetizing
(b)) Routing

(¢) Logical Addressing
@ Qs

A) )

(B) (a) and (b)

(©) (0 and (4)

(D) Al the above

In one of the pairs of protocols given
below, both the protocols can use multiple
TCP connections between the same client

-and the server. Which one is that ?

(A) HTTP, FTP
(B) HTTP, TELNET
(C) FTP, SMTP

(D) HTTP, SMTP

For an m-bit hash value, if we pick data
blocks at random we can expect to find.
two data blocks with the same hash value
within

(A) 2m

(B) 2(m/2)
(© 2tm-1
O) @m-1

. attempts.

132.

133.

() <ifsa w2

(d Qs

A @)
B) () 3 ()
© (@) 3R )
(D) Sul=a |t

(A) HTTP, FTP
(B) HTTP, TELNET
(C) FTP, SMTP

(D) HTTP, SMTP

T mebit % $9 I % o, e e e
ﬁhﬁsﬁﬁﬂéﬁ?ﬁméq%am
< H T H I @ LR
H = gw §
(A) am
(B) 2(m/2)

(C) 2(m-1)
D) (2m)-1

SPACE FOR ROUGH WORK / Y% & & fordr s
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134.

Which error detection method consists of
a parity bit for each data unit as well as
an entire data unit of parity bits 7

(A)
(B)

checksum

CRC

© Simply parity check

(D) Two-dimensional parity check

135. Race around condition i avoided in : 135. T ST FevA RS fo ST ©
(A) JK Flip flop (A) S, o T |
(B) Master slave flip flop (B) WRI e frera ward 8
(C) SR Flip flop (C) TEIM fer wetta 4
(D) None (D) el ® oft =&l
136. With single resource, deadlock occurs : 136. Tl TgreE & 99, miferdy & 2
(A) If there are more than two process (A) gfg 39 HHIHA F e | SIeED
competing for that resources. m‘iﬂﬁ\@ﬂf HE
(B) If there are only two processes (B) 7fg 59 q@E 3 fog Faa A whmand
competing for that resources. wereret 9
(C) Ifthereis a single process competing () 338 e ¥ T T | wfsean
for that resource. gfreqet 7 &
(D) None of these. (D) &y @ S T |
137. If a new computer is connected to a 137. S Th T FHrG Yok 9 el T
network, which protocol provides it with Eociks eI TR Sl '{ﬁ\"ﬂa oS
all the necessary information for full Feae | ‘{ﬁ TE 9 ‘s’ﬁ?ja TAH fqa?
system integration into the network ?
(A) DSR (A) DSR
(8) DHCP () DHCP
(C) AODV (C) AODV
(D) SMTP (D) SMTP
SPACE FOR ROUGH WORK / % % & ford TR
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138. A digital signature needs a:
(A) Private key system
(B)  Shared key system
(©) Public key system

(D) Al of them

139. Match the following socket system calls.
(in UNIX) :

System call Purpose

(@) 8 Socket (i) Associating a name

(b)' Bind (ii) Specifying maximum
queue length

() Connect (i) Kernel connects to

existing socket

(d) Listen (iv) End point

communication link

@ B © (@
@) O @ @ )

B) @) Gv) @) @
© 6 @ @
D) @) @v) @ @)

feen =i iy
(a) 8 Wike () TF T Q Sefyg
(b) wz=s (@) Al w7 e a5
' Fryfror
(€ F % (@) foremm Wik § w3
ek ’

(d) fT9T (Listen) (iv) 3fq forg dem s

@ ® @ @
@0 @ @
B) @) @) @ e
© O G @) @

D) @) @) @ @

SPACE FOR ROUGH WORK / % #T % ford
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140.

141.

142.

)

Large networks that encompass parts of
states, multiple states, countries and the

world are called :
(A)
(B) MANSs

©)

PANs

WANSs

LANSs

Suppose a network system has a n-layer
protocol hierarchy. A network application
generates mMessage of length p bytes. At
each layer, a s bytes header is added.
What fraction of the network bandwidth
is filled with headers ?

(A)

Pn+s

(B) ns+p

n.s

© 5

(D)

n.s.p

Bits can be send over guided and

unguided media as analog signal by :

frequency modulation

(A)
(B) amplitude modulation
©)
(D)

digital modulation

phase modulation

141.

142.

o ehfen fom T Joos faweg ° TH
AT W GRIIHR 3| TH ATTS
prytesﬂmm%l LIED
AW T, sbyteswm?ﬁgfm%l ECCCa
a‘@ﬁ@mﬁﬂ—mm%mﬁm%?

(A) Pn+s
(B) ns+p
ns

@rieg

(D)

n.s.p

mqﬁ‘ﬁ%ﬁﬂaﬂiaxﬁimﬁ‘r‘@mm,
mﬂmﬂ’@%wﬁﬁﬁﬁmﬁmw
HHdl & 7

(A) e TgTH
() TU=lSE g
() feshea HigeRH
(D) Tl HIGATH

SPACE FOR ROUGH WORK / T T fod SR

Set - A

9021/ ID-1F/RCE-E



143. A Go-Back-N ARQ uses a window of size

144,

145,

31. How many bits are needed to define
the sequence number ?

(A) 15
(B) 5
<€ 4

D) 6

The field in which dynamic RAM is more
complicated than static RAM is :

(A) Complexity

(B)  Execution unit
©) Interfacing circuit
(D) Cost

Simplify  the Boolean function

F(A, B, 0)=3(0,2 3,4, 6
(A) C'+AB
(B) C+AP
(C) C+AB

(D) C'+AB

143.

144,

145.

% Go-Back-N ARQ, 31 ES #7 fygy
SYIT e ¥ ATHT TN &) Ry
m%mmﬁmwammm?
(A) 15
(B) 5
€ 4

(D) 6

T S ) T Egily
F(A, B, C)=3(0, 2,3, 4, 6)

(A) C'+AB
(B) C+AP
(C) C+A'B

(D) C'+AB

SPACE FOR ROUGH WORK / 1% & F o s
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146. -An organization is granted t_he_‘block 146. T FHifESTH ste 211.17.180.0/24
211.17.180.0/ 24. The administrator fem T | Tefufdet 64 T T el
wants to create 64 subnets. Find the gl G T | TgH =) et 1] |

number of address in each subnet.
(A) 2 (A) 2
B 4 ®) 4
<€ 8 © 8
(D) None of the above (D) ERE FE T
147. In computer networks packet switching 147, S ook B Fehe e 1 ST IR
isused faudar e ?
(A) to transfer messages in a computer (A) wIX o 4 T & A S
network
(B) makes physical connection between (B) 3id fag aen = 3% wea e Tk
an end point and a switch T & feg
(C) in limited to small data networks () Hifa wd 3 wife e e % g
(D) inahigh performance multiplexing (D) ®@ 278 TR Hee A FESITIC]
technology always b
148. In go-back-n ARQ, if frames 4,5, 6are 148 M-F%-TT ARQ H, I %H 4, 5 6
received successfully, what is the ACK WW@W%&?{ACKWW
number receiver may send to the Fret o a1 A Fehel 77
sender ?
GV (A) 5
(B) 6 (B) 6
< 7 (C 7
(D) 8 (D) 8
e SPACE FOR ROUGH WORK / T &l & foy wE
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149. Which device filters and forwards packets 149, LAN Wz & g H-TT fearsw fireex

between LAN segments ? 3R wiEs YHe F #?
(A) Bridge - (A) fas
(B) Switch (B) fam
(C) Router _ (C) Tex
(D) Gateway (D) =@

150. All the data within GPRS backbone is  150. GPRS st F Wt 2o

transferred using TR FF TR fHy oy %_I“___-_-_
(A) PLCP (A) PLCP
(B) GTP (B) GTP
(C) L2cAP (C) L2CAP
(D) LMP (D) LMP
-00o0- -00o0-
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Maximum Marks : 150

<o 3R Y o W : 3

Time for marking answers : 3 Hours

e
1. gaw—g\’mwﬁﬁmﬁw?@ﬁ:
o - 1 50 FAH
() e ff fenes 125
(2) e fered 26-50
LCHEIERI 100 3T

(1)31amqu"—wré?¥ﬂ(z)mm1aﬁzaad (S)suzﬁmfgazgﬁﬁ(z;)n‘narsamm{ﬁﬂ (5) feforeet wifsr
(6)Wmm@wﬁm(7)mfgm§q(8)mwmﬁmfaﬁm

e S 1 3 1 1 B 150 T F s §1
2 % 3 3R, & T OMR - (FER-ge) T S HT |
3. W-wrafmmﬁml/mfmm%waﬁr
4 Wﬁm%Wwaﬁ%m@WWmmaﬁh%
5

OMR T~ (STEE-HR) 1 e e qua T srEeR = o, T 7% B T
wﬁﬁsmmwﬁwmﬁﬁwﬁw@aﬁn

Note :

1.  This Question Booklet contains Sections :
Section = ° 50 Marks
(1) Analytical Reasoning Skills 1-25
(2) Verbal Skills 26-50
Section - 11 100 Marks

(1) Data Communication (2) Computer Networks (3) Information Security (4) Mobile
Computing (5) Digital Logic (6) Computer Organization and Architecture (7) Compiler Design
(8) Operating System etc. to related Question ' "
Each question carries 1 mark. All 150 questions are compulsory.
2 Indicate your answers on the OMR Answer-Sheet provided.
3. 1/4 mark will be deducted for each wrong Answer.
4. Use of any type of calculator or log table and mobile phone is prohibited.
5

While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not get:
torn or spoiled due-to folds and wrinkles. ’
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